The Economics of Comparative Advantage: An Arithmetical Demonstration, 
Or,

How Trade Makes It Possible for Tom G. Palmer and Ross Levatter to Consume More Than They Can Produce
Prepared by Tom G. Palmer (www.tomgpalmer.com), but shamelessly copied from a much more clear exposition by his friend Donald Boudreaux, Chair of the Economics Faculty at George Mason University in Fairfax, Virginia

Basic Economics of Trade: A key to understanding trade – the foundation of human cooperation – is to focus on comparative advantage, rather than on absolute advantage.

	
	Maximum Production of Each Good
	

	
	Palmer
	Levatter

	Fish
	50
	100

	Apples
	50
	200


(Levatter has an absolute advantage in producing both goods.  Surely there would be no gains to him from trading with pathetic, unproductive Palmer!)

	
	Ratios of Production Before Trade
	

	
	Palmer
	Levatter

	Fish
	25
	50

	Apples
	25
	100


(Levatter is both more more capable than Palmer and smarter; he meets Palmer and suggests a trade.  Levatter offers to give Palmer 37 apples in exchange for 25 fish.  Despite being a bit slow, Palmer works it out on his fingers and determines that  that would be good for him, because to produce 37 apples he would have to sacrifice production of 37 fish, i.e., 12 more than he would have to give up to get the apples by trading with Levatter.)

	
	Production with Specialization Based on Comparative Advantage
	

	
	Palmer
	Levatter

	Fish
	50
	25

	Apples
	0
	150


(Levatter now takes 37 apples out of his 150 over to Palmer, who gives him 25 fish in exchange.  The trade is completed.)
	
	Holdings of Apples and Fish after Trade
	

	
	Palmer
	Levatter

	Fish
	25 [same as before trade]
	50 [same as before trade]

	Apples
	37 [12 more than before trade]
	113 [13 more than before trade]


By specializing and trading, both Palmer and Levatter are able to consume more apples than they could have consumed without trade.  Here’s the reason: despite being less productive in absolute terms than Levatter, Palmer is the lower cost producer of fish.  Producing one fish costs Palmer one apple, but for Levatter to produce one fish costs him two apples.  Despite the fact that he’s not as good a fisherman in absolute terms, Palmer is still a more efficient producer of fish; by exploiting his comparative advantage and specializing in fish production, he allows Levatter to exploit his comparative advantage, for producing one apple costs him one half of a fish, whereas it costs one whole fish to Palmer.

Another way to think of trade is to think of it as a machine that converts things that you can produce at a low cost (in terms of other things you would have to give up) into things that you can only produce at high cost (in terms of other things you would have to give up).  Imagine that such a “machine” were “invented” and installed in every country (or in every household; the scope or political status of the units matters not at all).  The inventor would be hailed as a great benefactor of mankind – until a protectionist came along and smashed the covering of the machine and revealed that it was .... a port!  Why should we consider a trading port – which converts goods that cost less to produce into goods that cost more to produce – to be a bad thing, if we would not consider the “machine” that achieves the same outcome as equally bad?

Were what is set out above not true, human society would simply be impossible.  The existence of potential gains from trade and the facilitation of trade by well-defined and legally secure property rights make possible all of the benefits of civilization.  Without them, Levatter’s good would be Palmer’s bad, and vice versa, and they could never be cooperators, never be colleagues, never be friends.

